NIPPON TSUSHO CO., LTD.

Downloaded on 30 September 2024 11:08 | Tri Okta Ervina - ENG BJS

I

BRACKET [ no. | REVISION | DATE [coRrecTor| APP’D
FRAME LENGTH : 3000 /A
2134 210 / L 163 n
BELT WIDTH : 1600 I / H\ ’@ @ $70 : @Qo
" ‘ |
TIP WIDTH 1500 ]l /Y | | ]
I/I/ t i i - n
- | o
150 | — | %
] 0
1 \\ i % an 5 ’ 5 &
| A L H g : : : | o
e — g 2 Z | :
| S S —————————————— |
|+ + + . L 30 a ,
: /@ il |] sl z e
1 v | o
| /@ 2—15HOLE | & o
" 1 8{_: 4
I! : QR S F— L % | £
I 1 P / \J I}
| s © e
00— .+ ST T L. VR S ks | -
l |
|
.

% EXCEPT: (4)FRAME(65A)

*EXCEPT: (0 (2(3 (4 ARE MADE OF SS400(UNICHROME PLATED).

100

15 | COVER SHEET  |POLYETHYLENE] 10 | 1t
14 | STOPPER M12x120 | SUS304 2 INUT ® After press adjustment,the Y dimension will increase by 325mm.
13 | ADJUSTER BOLT M16| SUS304 2 | NUT M16. PW(M20)
12 | NUT M186 SS400 4 PW.SW(SUS304)
11| BOLT M16x45 SUS304 4 W. SW. . .
10 TBoLT M16§140 SS307 5 EUT s PROJECT : Tanjung Jati B(2500t/h CSU)
- - - 5 1BA
9 | BOLT M10x75 SUS304 20 {NUT. PW. SW. i b DB ire
8 | NUT M8 SUS304 | 20 | PW. SW. BW_ 1600 x TW 1500
7 | BRACKET SS400 1set | L75x9 =
) APP’'D QUANTITY CUST! \

6 | WEIGHT DEVICE | 55400 |1set | 65A Saito @ == | Transport Machinery Co.,Ltd.
5 | CLAMPER FC250 [ 1set |65A e 2sets |\ —— -
4 | FRAME STPG370 | 1 | 65A—Sch80 A— WEIGHT 1/3 EE LLE BANNE RF(65A) |
3 | FIXATIVE PLATE SS400 20 DWN DATE DRAWN
2 [ CUSHION RUBBER/SS400] 10| R40 HS |774ke/s|  WAY 72018 GENERAL VIEW
1 {TIP WC/SS400|— 10| R(3x10) B w— o4 DRAWING NO.

S JmcontEgl en grinted or downloaded. Vetif E b USE.
NO. PARTS NAME Rd pvre\;rﬁﬁiﬂ?wn n?rrg)gr or 9%%@%\&§Lanf of the document is prnhihifya out \A/riﬂ::-%)g.?rqlislii@n rr'\'raw- BH. mNiéIQQVBQ S ré‘p/l 8 D O 3 8 E




